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AlLLLGH TT11 1 1 1 1 4 5 5 25 100 2500
=2Z TT11 1 1 1 1 1 1 6 5 10 40 100 4000
strcl TT11 1 1 2 5 10 100 1000
k! TT11 1 1 1 3 5 15 100 1500
&S TT11 0 5 0 100 0
2 X TT11 0 5 0 100 0




(04X} DF)

2500

100

100

100

25

15

ujo

<l0

{lo

IEI_'IE

=8 EL
4z

oMz
1A 2A1

e
=]

ufo

B
0

4
4

DF

Olote

o

DF

DF

<
U3}
|

I

R0




(04X} Al Z})

2000

3000

4000

100

100

100

100

100

100

o
o

<lo

<k
&0
i

+H|

20

30

40

3¢

281

19|

10

15

ujo

<lo

4lo
Ml

4z

o dz|a
1A 2A1Y 3AIY 4A1Y SHY

=
==

A2

8o

-+

0

<K
RO

0

<H

o)

oHolz

4
b

K0

Kk
70

Kr
0

K0




	남자TT1
	남자TT2
	남자TT3
	남자TT4
	남자TT5
	남자TT6
	남자TT7
	남자TT8
	남자TT9
	남자TT10
	남자TT11
	남자DF
	남자시각
	여자TT1~2
	여자TT3
	여자TT4
	여자TT5
	여자TT6
	여자TT7
	여자TT8
	여자TT9
	여자TT10
	여자TT11
	여자DF
	여자시각

